F2omBERTFEELFRAS LHEE HR-E8 (BF)
No K4 FE 4R (ATERES) |[EAEE faR (') Bz
1% H EyN:{ 2|82 | ERET 100m 11.66(+1.7)
2| H A 1% |BEHF 100m 12.10(-1.5)
3|IRE fEl 2|18 |FFdF |100m 12.10(-1.2)
4(FkL PN 2|8 | EFET 100m 12.09(-1.5)
5|4k Ehin 218 | KABZEH |100m 12.79(-1.3)
6|t H I 215 |[HHEAF 100m 12.46(+1.7)
ThEE BA 1B |#E+ 100m 11.91(-1.3)
8|1l S 1B  |F)lH 100m DNS
e Em 1|18 |HHEF 100m 12.26(+0.5)
1034 LS 1|8 |EHES [100m 12.45(+0.5)
11]%% T 2|28 | KB=EH [110mH |14.97(-1.0) |2
12|h0BE K#E 218 |/AE 110mH [15.84(+0.4)
13|1=28 KB 2|  |E®FEH |110mH [15.45(-0.5) |71
14|18 =] 2|2 |HpFdtdR [110mH [16.22(+0.4)
15|@A0 R 2|8 | ERET 110mH [DQ
16|&HX # 2|5 BREEH1500m [4.36.01
17|1F# E RS 1B |&5+ 1500m [4.30.88
18|41 R hE 2|18 | KA®=E$ |1500m [5.05.95
19|—@ 1853 2|8 | ERET 200m 24.85(+0.0)
20(3%)11 X 2|%  |FEBEF |200m 25.89(+1.5)
21|2x EE 2|15  |FEBEF |200m 25.84(+2.1)
22|Rik SRR 2|1%  |FEBEF |200m 26.07(+1.5)
23| EF E& 2|1% | KA®E"F |200m 26.59(+2.1)
24|f=2H 2R 1|5 IR P 200m DNS
25|HE  BEEB 2|18 |HELAF 3000m [9.18.60
6Bk AL&E 2|18 |K<AZ=E$ [3000m [9.33.07
27iRZ  thi 2|13 |#EE 3000m {9.36.12
28 |fRIR 1837 218 |BEF 3000m [9.49.11
29|28 EE 2|18 |HEEE 3000m [9.37.74
0Bk EE 2|18 |BAEFAF 400m 55.25
310% KEB 2|1%  |FEBEF |400m 56.80
32|4<H 2K 218 |HEF 400m 56.18
B|lHE A 11%  [Fé@Es 800m 2.00.31 6 fiL
34(FF £ &8k 2|1%  |FEBEF |800m 2.07.97
35(/\H FIA 2|15 |#EEE 800m 2.10.49
36|kl iy 1% |HRAF 800m 2.11.78
7pRHF R 2|18 |FALEHMEE 26m83
38|h0iE 1BEE 2|8 B Mg 21m72




9|2E B 22 |/A\ETF A& 27m97

40|#kM B2 1%  |#WEF |ESBk 1m69 8 fif
4118 X& 218 |EREFR |ESk 1m50

421 b Ty S AP EEBk 1m78 3L
43(FAH B 21%  |HEAE |EiRBk 5mb53(+1.6)
MIFZzE & 1% |HRAEE |EiEBk DNS

45 (VTR =S 2|18 |HRAEF |EiRBk 5m47(+0.9)
46[EHR F—EBR 1% |/NEH [REAk 12m48 3L
4785 Hwx 218 |\HF [ 7m60

48|8R%F B E 2|8 RIREEHES B DNS

49(FEE T2 1%  |#HEAE |Eakk 2m40

50|44y FIAH 2|8 |t |[EsBk NM

51| s % 28 |EwEF EE bk 2m60

EfEH Ml ——®-HO—+H 4x100mR |45.80
FEIRER A EAR—RIR—F)I—H £ 4x100mR |48.12

IR F It —fH — e — = 4x100mR [46.61

KAEF MR— B —EK—55 4x100mR |47.80




B2 EEERFEERE EHERAR LR

mR—8 (ZF)

No K4 FE (4R (AE(R) BAZEE faR (B) |IBfL
1R 1B 1lZ |BE®E/F+ |100m 13.06(+0.6)
2N fFER 1|z |BE&EFE/F+ [100m 13.66(+2.8)
3EE EAR |z | THES 100m 13.71(+1.4)

4 LH  KRE 1|Z  |E&e 100m 13.71(+0.6)
5IRE &% |z |#®E+ 100m 14.12(+2.8)
6|BE LE 1{% IR 100m 14.56(+1.4)
TIRHE E 2|z  |BEREMFHF [100m 13.43(+2.0)
8|1kBE i@ 2|1%z  [E)IIAF 100m 13.42(+0.1)
IFHE BxR 2|1%z  |BMERFE [100m 13.72(+1.0)
10|WE EF 2|1%z  |[HHEAF 100m 13.88(+1.0)
113 iz 2|%  |[FRRF 100m 13.92(+1.0)
12|10 EB=E 2% iRz 100m 13.96(+2.0)
13|E®R |’ 1|Z [l 100mH [16.58(+1.9)
14|ME E# 2% [WLBKRFEKE|1 00mH  [16.89(+1.3)
I5|AXAR Yo 2| | EET 100mH [17.77(+1.3)
16|28 & 2|  |#EREE 100mH [18.03(+1.3)
17|EZE R 2% |#ifzp 100mH [19.52(+1.3)
188 whl l|& |#fs 100mH [20.02(+1.9)
19|58 I 2|% |#EREE 1500m [4.51.18 7L
2003 IR 2|%  |NEF 1500m [5.17.35
21{+  IEE 2% |E‘EHE®F 1500m [5.53.09
22I/NR BBAE 2|1Z  |HEE 1500m [5.33.93
23|l HERE 2|z |HELAF 1500m [5.18.19

24| B FIR 2|%  |FEBEF 200m 26.64(-0.1) | 61iL
25(ihA EEE 2%z |E‘EHE®F 200m 27.93(+0.8)
26| = AHIE 2] |—=F 200m 28.89(+1.7)
275 EE 2|1Z  |WLEZFpEH [800m 2.29.09

28| =t EX 2|%z  |BELAF 800m 2.27.53
29|REH Bx 2% |FEREF 800m 2.46.77
30[EE B 2|1Z  |HEE 800m 2.34.50
31|feEw KB 2(z | 800m 2.27.53
R2(=vH EF 2| |WEKRFHE[800m DNS
3BIE FAN 2|%z | A& 22mb54 8 fiL
34388 BB 1{% il M 17m13

3B/ TR —F 2%z |BETF A% 14m00
36(Htn BEmE 2| | EF A& DNS
37(#A  BBIE 2|% | E= Bk 1m46
38[#E  HERAE 2|z |WEKRZEHE|[ESDL 1m30




9[EH  =<bH 2|1 |BIREEF |EEB 1m35
40(=FF  mESE 2|%z  |[FHERF EE Bk 1m25
MNBRE RE |z |BEeERFRY |[Eabk NM
Rl 2 2|% | k&% TENEBK 4m94(+2.7) |6z
43[=fF% K 2|1%  |HFEF TENEBK 4m23(+1.5)
A4VINSERR TREE 2| |EEE E TR 4m28(+1.8)
45001 BE 2|%  |HETEAE el L% 7m78
16|FE WM& 2| | EET el L% 7m95
47|78 KE 2|1%  |FAFdLE el L% 7m22
48[l EZ 2|1%  |BERFFR |fEhiE 7m71
OFL  ER 2| | EET Bk 2m40
50(F ¥ 2|% | Bk 2m00
Sll=m X 2| | EET Bk NM
BReBNR | EL-RE-HH-EE 4x100mR |52.99
IR F ER—RE—F/II—AMHA 4x100mR |54.23
E Ehizks B — AT — LA — B 4x100mR |DQ
i YR -BEE—/I\TFM—5h 4x100mR |DQ




